JL_

Emparejando gréficas

Nombre;

Determina cual gréafica pertenece alatabla.

Respuestas

1) Gente 2) Gente
6,000 6,000 L
10,000 8,000
2,000 2,000 2
8,000 3,000
3,000 10,000 2
3) Gente 4) Gente
6,000 6,000 a4
10,000 10,000
8,000 3,000 5
3,000 8,000
2,000 2,000 i
5) Gente 6) Gente
6,000 2,000
2,000 10,000
3,000 6,000
8,000 8,000
10,000 3,000
[ o
A 10000, — 5 10000, — c 10000, —
8,000 — 8,000 — 8,000 —
6,000 6,000 6,000
4,000 4,000 4,000
2,000 ’_‘ 2,000 ﬂ 2,000 ﬂ
0 || 0 || ol 1]
D. 10,000 — g 10000 [ £ 10,000 —
8,000 — 8,000 — 8,000 | —
6,000 6,000 6,000
4,000 4,000 4,000
2,000 I—Iﬂ 2,000 ’_‘ 2,000 N ’_‘
0 0 0
G. 10,000 — 4 10000, — | 10,000 —
8,000| — 8,000 8,000| —
6,000 6,000 6,000
4,000 4,000 4,000
2,000 ’_‘ 2,000 ’_‘ 2,000 ’_‘
ol 0 || ol 1]
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JL_

Emparejando gréficas

Nombre: Clave De Respuestas

Determina cual gréafica pertenece alatabla.

Respuestas

1) Gente 2) Gente
6,000 6,000 . C
10,000 8.000
2,000 2,000 2. |
8.000 3,000
3.000 10,000 s A
3) Gente 4) Gente
6,000 6,000 4 B
10,000 10,000
8.000 3,000 s D
3,000 8.000
2.000 2.000 . E
5) Gente 6) Gente
6,000 2.000
2.000 10,000
3,000 6,000
8.000 8.000
10,000 3,000
[ o
A 10000, — B 10000, — c 10000, —
8,000 — 8,000 — 8,000 —
6,000 6,000 6,000
4,000 4,000 4,000
2.000 ’_‘ 2.000 ﬂ 2.000 ﬂ
. ] . ] . [ ]
D. 10,000 — g 10000 [ £ 10,000 —
8,000 — 8,000 — 8,000 | —
6,000 6,000 6,000
4,000 4,000 4,000
2.000 I—Iﬂ 2.000 ’_‘ 2.000 N ’_‘
0 0 0
G. 10,000 — 4 10000, — | 10,000 —
8000 — 8,000 8000 —
6,000 6,000 6,000
4,000 4,000 4,000
2.000 ’_‘ 2.000 ’_‘ 2.000 ’_‘
L] . | . | ]
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	Hoja de ejercicios
	Clave De Respuestas

